3x—y+1, B=—x+2y-20°| tisto] A - Bo] AXHE
?

@ 2x-3y-1 @ 4x+y-1 ® 2x+3y+3

@4x—3y+3 ® 2x+y-1

A-B=Bx-y+1)—(—x+2y-2)
=3x-y+1+x-2y+2
=4x-3y+3




2. ohe F ok 4, Bl Hste] A - BE Pl

A =2y% + x%> - 3xy, B = —4x? - 2xy + 5y?

@ 5x% - 2xy + 3y? @5x2 — xy - 3y?
® 5x% + xy + 3y? @ 5x% 4 2xy — 3y?

® 5x% + 3xy + 3y?

~&B

SH71E Ats £t

A—B = (2y% + x? = 3xy) — (—4x% — 2xy + 5y?)
= 5x% — xy — 3y?
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A a, b, ¢ S AT W, a+ b+ o Fe?

@ 4 @ 5 ® 6 @

1) + bx + ¢ 7} x ol tigt 52]0] H =

Astel SRGOR %
3_a(x 1)2 —|—bx—|—c
=ax*+ (b-2a)x+a+c

g 7
x2 4 2x +

a=1,b-2a=2,a+c=3
a=1,b=4,¢c=2
a+b+c="7
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A 3x+4=a(x-1)+b(x+1)+3°] xof tiet FFA0] HreF
&5 a, b O] & Aok

Da=1,b=0 @ a=-1,b=2 @ a=1b=-2
@ a=0,b=2 @azl,b=2

SH-E HIste] I} A4S v wstHH
a+b=3, —a+b+3=4
AYSI] EHa=1, b=2
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S92 Al AsuLE o2 mHASE 72
32 +5x=a(x-1)2+b(x+1)+c
=ax’+ (-2a+b)x+a+b+c
a=3, -2a+b=5,a+b+c=0
~a=3,b=11, c=-14
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a=3,b=11, c=-14
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11. o34 ax +ay — bx — by E QA5E3] 51H?

® x(a-b) @ (a-b)(x~-y)
@ a-b)x+y) O (a+b)(x+y)

ax+ay—bx—by =a(x+y) —b(x+y)
=(a-b)(x+y)




12. 3(4x +57) = P 1, 6(8x + 107) =7

@ 2p @410 ® 6P @ 8P ® 18P

6(8x + 10m) = 6 - 2(4x + 5m) = 4 - 3(4x + 5m) = 4P
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14. x*+2>-8x-128 Q5E)5HA (x-3) | oItk o] uf, ogtel

[} [e]
ggre 2109

@) (x+2)2 @ (x-2) ® (x+1)?
@ (x-3)? ©® (x+3)?

3 1
3 12 12
2201 4 4 0
-2 4
211 2] 0
-2
110

2+ x2—8x-12 = (x - 3)(x +2)?

[ l=a+2y




15. 2012 = k2 & o, 2013 x 2011 k= YERJHA?

@ k% +k @k2—1 @ K+k+1
@ K-k+1 ® k2 -k

2013 x 2011 = (k + 1)(k — 1)
—Kk2-1




16. oA x3 -2 x? - 22 the Y A=Y

@® 2 @ -2 ® -2x-2

@ 2x+2 ®)2x -2

x3—2_x3—2x—|—2x—2_ 2x—2
x2-2 x2 -2 TrT e
LS x, YHA =24 -2




xofl T A 3 4 mx® 4 nx+1& x+12 HEH YAzt 50] 10
x—258 WA UMz 7} 3oltt, o] wf, A4 m—n o g2 F-stofzt.
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Zol2 Aof x = 1, x = 22 22 TS,
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(13 +m(-1)2 +n(-1)+1=
(2P 4+m2)?2+n-2+1=3--
G, ©O= 9454,

2 13

m=—, n=——




18. Thak4 o' -3 fax+ 5 x+ 22 R e A7} 30]th 42
zre

@ o @ 2 633 @ -2 ® -3

xt = 3x% +ax+5 = f(x) = =2}
f(=2) =3°4 -2a+9=3

La=3




19. -2:2+a7hx 3 2 o] WolZ =8 A% o o ghe Fofelet,

=
H =

| 2
> HE: a=45




20.

% 9] G A%7E 191 AR A P(x) 7 P(1) =
2 W), p(4) o 7heY

@ 4 @)6 O @ 10




21. A axd + b2 472+ x- 28 U5 BoAEE 4,b

W, ashb o] FE Fohw?

@1 @ 2 3)3 @ 4 ® 5

%

=
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o
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ax® +bx? -4 = (x> + x - 2)(ax + 2)
0‘?'33_7‘*7110}01 A& Bl astd
a=1,b=3 .. ab=3




22. f(X)=2x3_3x2+x—k 7t x-25 Q4= 714 ‘Iﬂ,k%:}ﬁ}da}

(=T
[= ]

| 2
> He 6
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f(x) 7t x-28 Q%52 Zrethe AL f(x) 7 x- 22 U
Hojth= ol
Z, £(2) = 08 WEA7|E= kE FoH,

f(2)=2x23-3x224+2-k=0
k=6




23. 94 f(x) = 32 + ax® + bx + 127} x - 22 o] oI E,
x— 3025 o] WOl L& A g + b 9] GHS Astole}.

» E
> = -5

S5 ,
f(x) 7t x -2 & o] BojAHH
f(2)=244+4a+2b+12=0
“da+2b+36=0 ------ @)

E, f(x) 7k x -3 & ro] Hojz| 2
f(3)=81+9a+3b+12=0
©“ 9%+3bh+93=0 ------ ©
Q, O AHstd EHa=-13, b=38




24.

OFA f(x) =2 +ax® + 32 DA x- 1= o] HojA=s q
o] J& gotH?

-2 @4 @6 @®-8 @ ©-10

f)=14a+3=0,a=-4




25.

S (x— 1)% 4 272 vhE A QRS 2L

O (x-1)(x*>+3) @ (x-1)(x*-x-2)
® (x=1)(x*+3x+3) @ (x+2)(x>+x+7)
@) (x+2)(x2 - 5x+ 13)

x-13 A=x 2|2t
F A =A% 4+27=(A+3)(A%2-34+9)
THA] x — 12 HASHH (x + 2)(x% - 5x + 13)




26.

x4+ 4x3 = 2x% + ax + b7} o|AHA 9] A FA] o] H of,
29

®a=12,b=9
® a=12, b=-9

® a=9,b=12

B

4 -2x2 tax+b=(x>+px+q?o2 FOH
o) 4] Sme

xt+2x%(px + q) + (px + q)?

= x* + 2px3 + (p? + 29)x* + 2pgx + ¢?

T} Al 4E B wsHH

2p =4, p?> +2¢ = -2

p=2q= -3 9] A

a=2pg=-12,b=¢*=9




27, xoll gk o] x3 —2x% —x+ 27} (x+a) (x + b) (x + ¢) 2 U523l
2o, a® 4+ 0> + 2 G427 (B, a,b,c= )

® 5 @ ® 7 ® 8 ® 9

W22 -x+2=(x+1D(x-1(x-2)
A+ +2=(-1)2+12+22=6




AL N = pig"r B 2SR o, ] oo e (n+
1)(m+1)(I+1)°lck. o] ], 38% +3-382 + 338 + 12] 2] ok
MNe=?

® 974 @ 1270 @16711 @ 247  ® 327

B ,

38 = x 2} 5},

382 +3-382+3-38+1=x+3x2+3x+1
_(x+1)3
_393
_133‘33

(B+1)(3+1)=16




29. ¥ 12?425 A A2 12 1B RGlS 19 B8 o(x) A
R(x) 2t & o, O(x) + R(x) 8] 22

@ 2x-3 @ 2x @ 3x+2
@4)6 ® 4x+1

B2 P+ 2 - 12 A UrE
O(x)=x-1, R(x) =3x+1
© (1) +R(x) = 4x




30. oA 242 + Bax — a2 S THEHA] P(x) B U 0] x + 3a, 2|7}
2a> 4 ], 4] (x+ a)P(x) & Hrebd 2127
@D x? + 2ax — 24> @ x*-a?

® 2x%2 + 3ax + d? @ 2x% -3ax-a?

<@>2x2 + ax — a?

B

2x% + 5ax — a® = P(x)(x + 3a) + 2a? 0| B2

P(x)(x + 3a) = 2x? + bax — 3a*

whebA], TFeA] P(x) & 2x2+5ax—3a% & x+3a 2 e RO|B2
P(x)=2x-a

“ (x+a)P(x) = (x+a)(2x—a)

= 2x% + ax — d>




31. o fx) =4 +ax® +x+1&x+ = iq-—r—fq],]-u-lxlj}.lcﬂ
S (08 20+ 12 e & (09 Lol k% P

D@ Qox)=24>-x,R=1 @Q(x):2x2+x,R:1
® Q0kx)=2x>-2x,R=1 @Q(x):4x2—2x,R:%

® Q(x)=4x2+2x,R:%

mbA f(x) = 4x3 + 4x2 + x + 1
=x(4x® +4x+1) +1
=x(2x+1)2+1

+1EUFHQO(x) =222 +x, R=1




32. TS & Ao AU HIER] e AL T2 H?

O 1-x)1+x+x3)=1-x3

@ (& +xy+y*) (6% = xy +y?) = 2 + 1% 4yt
@ (- 3)(x -2+ Dx+2) = ' 822 + 12
@ (a-b)(a+b)(a®+b%)(a* +b) =a® - b°

® (a+b-c)la-b+c)=a®-b*-c2+ 2bc

~&B

(x=3)(x-2)(x+1)(x+2)

(xz—x 6)(x2 —x—2)

x> —x =Yt =4}

(Y-6)(Y-2) =Y>-8Y+12
= (x> -x)%-8(x%—x)+12
=x*—2x3 - 7x% + 8x + 12




x-D(x+2)(x-3)(x+4)E AN o, 2
A5 bt S W), a+ b O] hS TEHE?
® 8 @ 15 3®)24 @ 36

(x=1)(x+2)(x—-3)(x+4)

=2 +x-2)(x®+x-12)(x® +x = X(A
= (X-2)(X-12)

=X2-14X+24

=(x?+x)? - 14(x* +x)+24
=x*+2x3 - 13x% - 14x + 24
Ca=142-13-14+24=0, b=24
La+b=0+24=24




34.

5 OFFA] (14 2x 4 3x% +4x3)3, (14 2x + 3x% + 4x3 + 5x1)3 9] &3
N AsE A2 a, b W, a-b°] = F5HH?

@ -21 @ -15 ® -5 @ -1 @0

(14 2x + 3x% + 4x3 + 5x*)3 o] A2 A

x1 O] A= 13 9] Algeh= BAZE fith

m2hA] (14 2x + 3x% 4 4x3)3 o] AZRA A x3 o] A&} (1 +
2x + 3x% + 4x3 + 5x1)3 o] IR A A x3 9] A=
~a=b .. a-b=0




35.

287 mape] 427t 9)
Zo]o] ghe 36ole}. of AAke] thzpAe] ol

® Va2

Al 2429 Aol S a, b, c2F S
2(ab + bc + ca) = 52
dla+b+c)=36 > a+b+c=9
59 2] o))
Y

= /(a+b+c+)?—2(ab + bc + ca)
= V81 -52 = V29




B4 £ (1) 8 x-2 x4 28 el o, teiAsk 22} 5, golet
Fek. ol w, Sk £ (1) S 2 - 42 e GRS ok ax + b
OIF}. da + bl L FHHAL

f2)=5, f(-2)=3
fx) = (x*-4)Q(x) +ax+b
— (x=2)(x+2)Q(x) + ax+b
f(2)=2a+b=5, f(-2)=-2a+b=3
1

— . b=4
475




37. M A= a, b, 7t HE Al 27 TSI,

a+b+c=1, ab+bc+ca=1, abc =1

ol W, (a+b)(b+c)(c+a)l] F2?

a+b+c=1°4
a+b=1-c¢c,b+c=1-a,c+a=1-b
(a+b)(b+c)(c+a)
=(1-)(1-a)(1-b)
=1-(a+b+c)+ (ab+ bc + ca) — abc
=1-1+1-1=0
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38. ala+1) =19, LT o gre

1 1 1
@1 @ 3 ® 3 D)

(S

~&B

ala+1) =194

a’=-a+1

at=(-a+1)?=d’>-2a+1
=(-a+1)-2a+1=-3a+2

ab =a*xa® = (-3a+2)(-a+1)
=3a*-5a+2=3(-a+1)-ba+2

=-8a+5

at-a® -3a+2-(-a+1)

as—1 -8a+5-1
—2a+1 —2a+1

—Sa T A(=2a+1)

4




39. %okl f
f

st A9 gtol o o] Hrt.
@D-1+f(-1)=-1+1=0
©-1-g(-1)=-1+1=0

© -1+ f(-1)g(-1) = -1+1x(-1) = -2
L9, 0




40.

a? = b + ¢ —d® + 2(ac + bd) & HFEA J25) o A0

® (a+b-c-d)(a-b+c+d)

@ (a+b+c+d)(a—b+c—d)

@)a+b+c-dfa-b+cta)

@ (a-b+c-d)a-b+c+d)
)

® (a+b+c+d)(a-b-c+d)

~&B

a® - b? + c? —d? + 2(ac + bd)

= (a® + 2ac + ¢*) — (b* - 2bd + d?)
=(a+c)?=(b-d)?
=(a+b+c-d)(a-b+c+d)




41. o9& X7 F ab(b - a) + ac(c —a) + be(2a - b —¢) 2] Q1521 A
RE 12H?

filo

@ a-> © b+c © a-c
®6 @ © ® 9,©
@ ©,© ®a, 0.6

B

ab(b - a) + ac(c —a) + bc(2a—b - c)

= ab? — a®b + ac® - a*c + 2abc — b*c — bc?
= —(b+c)a® + (b + 2bc + c?)a — be(b + ¢)
=—(b+c){a® - (b+c)a+ bc}
=—(b+c)(a=b)(a=c)
=(a=b)(b+c)(c-a)




M %4 a, b, c7V a® + b® + 2 = 3abcE WZAZL W a, b, cE Al

42.
e = L V3 _
%ﬁioh:ﬁﬂ%ﬂ%?mrifﬂﬂiaﬁk0M%a+b+cﬂ
& Fotofet.
> £
> Het: 3

B

a® + b® + ¢ - 3abc
= (a+b+c)(a®+b?+c? —ab-bc - ca) = 04

a>0,b>0,¢>00B2 ag+b+c#0
a2+ b2 +c2—ab-bc—ca=0

;@-mhuuwﬁ+@-@%=o
~a=b=c(.a, = A=)

metA a, b, cE Al HIOE




43. Al A xy,zol Hotd [x,y,2) = xy? —y*z&F 5HAL x—y =2, xy -
yz—zx =102t & W, [y, x,2] + [z, v, ] &] Bk2?

Do @ -2 (@)2 @ -4 ® 4

~&B

[y, %, 7] = yx? — x°z, [z, 3, x] = 2y® — y*x

. %2 + (2,3, 5] = yx* — ¥’z + 2° — y*x
= xy(x —y) — z(x* = y*)
= (x—y)(xy - yz - zx)
=91l =9




